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For #& - 7, find the measure of each angle in the iscsceles trapezoid.

6. meJz 7. mzR=
msl = meT =
msM = meQ =
L
Q X T
K
1 M R s

For #8 - 9, show that the quadrilateral with the given vertices is a trapezoid. Then decide
whether it is isosceles. Show ali work, including formulas.

8 Wi 4 X(1,8 VY{(-3,9 Z(-3,3) Trapezoid? Yes/No  Isosceles? Yes/No

Slopewx =

Slopexy =

Slopeyz =

Slopewz =

9. D(-3,3) E(-L1) F(L-4) 6&(-3,0) Trapezoid? Yes/No  Isosceles? Yes/No
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15, Find the value of x.

x =

3x + 2

x—2

16. The bases of a trapezoid lie on the linesy = 2x + 7 and y = 2x - 5, Write the equation of the
line that contains the midsegment of the trapezoid.

Equation of Midsegment:

17. A plastic spiderweb is made in the shape of a regular dedecagon {12-sided polygon).
AB |1 PQ , and X is equidistant from the vertices of the dodecagon.

What is The measure of each interior angle of ABPQ?

mzA = A

m«B =

mzP =

msQ =

LR v X1

18. Describe and correct the error in finding DC.

For #13 - 22, give the most specific name for the quadrilateral. Explain your reasoning

19. 20.
J . K
I L] Y
F -
— . 111
M L
$ R
Reasoning: Reasoning:
21 22.
B
W
Z X
A C
D Y
Reasoning: Reasoning:
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